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SUMMATIVE ASSESSMENT-1(2012) 

SOCIAL SCIENCE 

CLASS –IX 

Design of Question Paper 

Time allowed: 3 hours                                                                                                       Maximum mark: 90 

1. WEIGHTAGE TO FORM OF QUESTIONS 

Form of Questions Marks of each Question Number of Questions Total Marks 

1. M.C.Q. 1 10 10 

2. Short Answer(S.A) 
 

3 
 

12 
 

36 

3.Long Answer(L.A) 5 8 40 

4.Map Question 4 1 04 

Total - 31 90 

2. UNIT-WISE DIVISION OF QUESTIONS 

 

 

 

 
Unit No.(Subject) 

 
Marks 

No. of 
1 mark 

Questions 

No. of 
3 mark 

Questions 

No. of 
5 mark 

Questions 

Map 
Question  

4 

 
Total 

1. India and the 
contemporary 

World 
1(History) 

 
23 

 
2 

 
2 

 
3 

 
- 

 
23(7) 

2. Contemporary 
India 

1(Geography) 

 
23 

 
2 

 
4 

 
1 

 
1 

 
23(8) 

3. Democratic 
Politics 

1(Political 
science) 

22 3 3 2 - 
 

22(8) 

4. Economics 1 22 3 3 2 1 22(8) 

 Total 90 10 12 8 1 90(31) 
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SUMMATIVE ASSESSMENT-1 

(2012) 

 (CLASS -IX)  

SOCIAL SCIENCE  

Blue Print 

Units  
 

Topics MCQ  Marks SA  Marks LA Marks Map Marks Total 

1
. 

   
   

   
  H

is
to

ry
   

French Revolution 2(2) - 10(2) - 12(4) 

Socialism in 
Europe and the 

Russian 
Revolution 

OR 
Nazism and the 

Rise of Hitler 

 
 
 
- 

 
 
 

6(2) 

 
 
 

5(1) 

 
 
 
- 

 
 
 

11(3) 

Sub Total 2(2) 6(2) 15(3) - 23(7) 

2
. 

G
eo

gr
ap

h
y 

 India Size and 
Location 

1(1) 3(1) - 1(1)* 5(2+1 Map) 

Physical Features 
of India 

 
- 

 
6(2) 

 
5(1) 

 
2(-) 

 
13(3) 

Drainage 1(1) 3(1) - 1(-) 5(2) 

Sub Total 2(2) 12(4) 5(1) 4(1) 23(8) 

3
. 

P
o

lit
ic

al
 s

ci
en

ce
 

Democracy in the 
contemporary 

World 

 
2(2) 

 
3(1) 

 
- 

 
- 

 
5(3) 

What is 
Democracy & Why 

Democracy 

 
- 

 
3(1) 

 
5(1) 

 
- 

 
8(2) 

Constitutional 
Design 

1(1) 3(1) 5(1) - 9(3) 

Sub Total 3(3) 9(3) 10(2) - 22(8) 

4
. 

Ec
o

n
o

m
ic

s 
 The Story of 

Village Palampur 
 

1(1) 
 

3(1) 
 

5(1) 
-  

9(3) 

People as 
Resource 

2(2) 6(2) 5(1) - 13(5) 

Sub Total 3(3) 9(3) 10(2) - 22(8) 

 TOTAL 10(10) 36(12) 40(8) 4(1) 90(31) 

 

 Questions forMap Work have been combined to form one question. 
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SUMMATIVE ASSESSMENT-1(2012) 

SOCIAL SCIENCE 

CLASS –IX 

Time allowed: 3 hours                                                                                                     Maximum mark: 90                                                                                                          

Instructions: 

1. The question paper has 31 questions in all. All questions are compulsory. 

2. Marks are indicated against each question. 

3. Questions from serial number 1-10 are Multiple Choice Questions. Each Question 

carries one mark. 

4. Questions from serial number 11 to 22 are 3 mark questions. Answer of these 

questions should not exceed 80 words each. 

5. Questions from serial number 23 to 30 are 5 mark questions. Answer of these 

questions should not exceed 120 words each. 

6. Question number 31 is a map question of 4 marks from Geography only. After 

completion, attach the map inside your answer book.    

    

1.   Wearing the red cap symbolizes 1 

          (a) Symbol of royal power                (b) Symbol of liberty 

          (c) Symbol of knowledge                   (d) All of the above 

 

       laala TaopI iksaka p`tIk hO. 

 

       k´ SaahI sa%ta ka p`tIk                    K´ svatM~  haonao ka p`tIk 

       ga´ &ana ka p`tIk                           Ga´ ]pyau-@t saBaI 

 

 

2.   Leader of Jacobin Club was 1 

          (a) MaxmillianRobespiere                (b) Robert D’ Souza 

          (c) Louis XVI                                         (d) Marie Antoinette 

 

    jaakaoibana @laba ko naota– 

       k´ maO@saimailayana raobaospoyar                   K´ raobaT-  iDsaUj,aa 

       ga´ lau[sa 16                                 Ga´ maorI enTa^inaTa 
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 3.   The easternmost longitude of India is 1 

 

          (a) 97  25’ E                                           (b) 68  7’ E 

          (c) 82  35’ E                                           (d) 85.5’ E 

 

     Baart ka sabasao pUvaI- doSaaMtr kaOna–saa  hOÆ 

 

      k´ 97  25’pU                              K´ 68  7’ pU 

       ga´ 82  35’pU                               Ga´ 85.5’ pU 

 

 

 4. The river Narmada has its source at 1 

          (a) Brahmagiri                                       (b) Amarkantak 

          (c) Satpura                                             (d) Aravalis 

  

   nama-da ka ]d\gama [sako inakT hO– 

 

      k´ ba`(igarI                                K´ AmarkMTk 

      ga´ satpuD,a                                  Ga´ AravalaI 

 

 

 5. The Nobel prize winner and the leader of Myanmar is 1 

 

          (a) Aung San SuuKyi                           (b) Pinochet 

          (c) Walesa                                            (d) Jaruzelski 

 

      myaanamaar ko naota AaOr naaobala purskar ivajaota– 

 

      k´ AaMgasaanasaUcaI                           K´ ipnaaoYao 

      ga´ valaosaa                                   Ga´ jao$j,aolskI 

 

 6. When did Myanmar become independent?  1 

 

           (a) 1947                                                 (b) 1948 

           (c) 1949                                                  (d) 1950 

 

      myaanamaar kba svatM~  huAaÆ 

       k´ 1947                                K´ 1948 

       ga´ 1949                                 Ga´ 1950 
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 7. The following organization led the freedom movement in South Africa 1 

 

          (a) SANC                                                 (b) FNC 

          (c) ANC                                                   (d) None of these 

 

    dixaNa AÍIka ko svatM~ta AaMdaolana maoM inamnailaiKt saMgazna ka naotR%va rha–  

 

     k´ dixaNa AÍIkI naoSanala kaMgao`sa            K´ ivadoSaI naoSanala kaMgao`sa 

     ga´ AÍIkI naoSanala kaMgao`sa                   Ga´ [namaoM sao kao[- nahIM 

 

 

 8. The main activity of the village  Palampur is  1 

 

          (a) Manufacturing                                  (b) Dairy farming 

          (c) Farming                                              (d) Cattle rearing 

 

    Paalamapur gaaÐva kI mau#ya iËyaa hO– 

 

       k´ ivainamaa-Na                                  K´ DoyarI 

       ga´ KotI                                       Ga´ pSaupalana 

 

 

 9. The full form of GNP is  1 

 

          (a) Gross National Product                   (b) Green National People 

          (c) Green National Product                  (d) Gross National Performance 

 

    jaIºenaºpIº ka pUNa- $p hO– 

 

      k´ ga`aosa naoSanala pàoD@T                         K´ ga`Ina naoSanala pIpla 

      ga´ gàIna naoSanala p`aoD@T                          Ga´ gàaosa naoSanala prfao-mansa 

 

 

 10. What type of unemployment is common in urban areas 1 

 

           (a) Seasonal unemployment                 (b) Educated unemployment 

           (c) Disguised                                             (d) None of the above 

 

 

          nagaraoM maoM saamanya $p sao pa[- jaanaovaalaI baoraoj,agaarI– 

 

        k´ maaOsamaI baoraoj,agaarI                         K´ iSaixat baoraoj,agaarI 

        ga´ p`cCnna baoraoj,agaarI                         Ga´ [namaoMsaokao[- nahIM 
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 11.  What was the impact of World War I on the Russian economy?                           1 X 3 = 3 

       $sa kI Aqa-vyavasqaa pr p`qama ivaSva yauw ka @yaa p̀Baava pD,aÆ 

 

                                         OR 

 

           Describe the formation of Nazi Party in Germany.                                                 1 X 3 = 3 

        naa%saI paTI- ka gazna iksa pk̀ar huAa Æ 

 

 

 12. What was Duma? How far was it successful?                                                             1 + 2 = 3 

      D\yaUmaa @yaa qaaÆ vah khaÐ tk safla rhaÆ 

 

                                          OR 

    

Describe the problems faced by the Weimar Republic.                                                  1 X 3 = 3

  

       vaa[mar gaNarajya ko saamanao  @yaa samasyaaeÐ qaI Æ 

 

 

 13. Why 82° 30’ E selected as the Standard Meridian of India?                                   1 X 3 = 3 

       82° 30' pUva- doSaaMtr kao Baart ka maanak yaaomyaao%tr @yaaoM maanaa jaata hO Æ 

 

 

 14. What are the three types of plate movement on the earth?                                 1 X 3 = 3 

      tIna pk̀ar kI PlaoTaoM kI gaityaaÐ @yaa hOÆ 

 

 

 15. How were northern plains formed? 3 

      ]%trI maOdana ka inamaa-Na kOsao huAaÆ 

 

 

 16. What is meant by water divide? Give an example.                                                   2 + 1 = 3 

     jala–ivaBaajak ka @yaa Aqa- hOÆ ek ]dahrNa ilaiKe. 

  

 

17. What was the role of ‘Solidarity’ in establishing democracy in Poland?               1 X 3 = 3 

      Paa^lanD maoM laaoktaMi~k Saasana laagaU krnao maoM saaoilaDoirTI kI @yaa BaUimaka rhIÆ 

 

 

 18. Give any three arguments against democracy?                                                        1 X 3 = 3 

     laaoktM~  ko iKlaaf tIna tk- dIijaeÆ 
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 19. How was the Constitutional Assembly of India constituted?                                 1 + 2 = 3 

    Baart kI saMivaQaana saBaa ko gazna pr saMixaPt iTPpNaI kIijaeÆ 

 

 

 20. What are the main factors of production?                                                                1 X 3 = 3 

     ]%padna ko p`mauK kark @yaa–@yaa hOMÆ 

 

 

 21. Differentiate between economic and non-economic activities?                      1½ x 1½=3 

     Aaiqa-k AaOr gaOr Aaiqa-k iËyaaAaoM maoM @yaa AMtr hOÆ 

 

 

 22. What is the role of health in the working life of an individual?                            1 X 3 = 3 

      maanava pUÐjaI inamaa-Na maoM svaasqa kI @yaa BaUimaka hOÆ 

 

 

 23. What were the main causes of French revolution? 5 

       ÍaMisasaI ËaMit ko mau#ya karNa @yaa qaoÆ 

 

 

 24. Describe the legacy of French revolution for the people of the world 5 

      during the 19th and 20th centuries? 

  

        19vaIM AaOr 20vaIM sadI kI duinayaa ko ilae ÍaMisasaI ËaMit kaOna saI ivarasat CaoD ga[-Æ 

 

 

 25. Briefly explain the main features of Stalin’s Collectivisation Programme? 5

                                

        stailana ko saamaUihkIkrNa kaya-Ëma pr saMixaPt iTPpNaI kIijaeÆ 

 

                                OR 

 

          What kind of education was given in Nazi schools?   5 

          naasaIvaad ko daOrana skUlaaoM maoM iksa p`kar kI iSaxaa dI jaatI qaIÆ 

 

 

 26. Contrast the relief of the Himalayan region with that of the Peninsular 

        Plateau?                                                                                                                       2½ x 2½=5 

                ihmaalaya xao~ tqaa p`ayaWIp pzar ko ]ccaavaca laxaNaaoM maoM @yaa AMtr hOÆ  
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27. “Democracy enhances the dignity of citizens.” Justify this statement? 5 

          ‘laaoktM~ naagairkaoM ka sammaana baZ,ata hO’ [sa kqana kI vyaa#yaa kIijaeÆ 

 

 

 28. Briefly explain the main features of Indian constitution.  5 

       Baart ko saMivaQaana kI mau#ya ivaSaoYataAaoM ka vaNa-na kIijaeÆ 

 

 

 29. Which non-farm activities are practiced in Palampur? Write in short about them? 5 

        palamapur maoM kaOna–saI gaOr–ÌiYa iËyaaeÐ haotI hOMÆ saMixaPt iTPpNaI kIijae. 

 

 

30. Distinguish between seasonal and disguised unemployment? 5 

      maaOsamaI tqaa p̀cCna baoraoj,agaarI maoM AMtr spYT kIijaeÆ 

 

 

31.1 Two features (i) and (ii) are marked on the given political outline map of  

      India. Identify these features with the following information and write their  

     correct names on the lines marked.                                                                                  2X1=2 

 

           (i). Highest Peak in the Western Ghats 

          (ii). Southern most point of Indian mainland 

 

 2. Locate and label the following on the same political map:                                         2X1=2 

        

        (a).  Chilka Lake 

        (b) . Naga Hills 

 

    1   dao sqaana Baart ko rajanaOitk maanaica~ pr AMikt  ike gae hOM. inamnailaiKt saUcanaaAaoM ko AaQaar pr [nhoM 

phcaainae evaM  naamaaMkna kIijaeÆ 

(i) piScamaI GaaT kI savaa-iQak }ÐcaI  iSaKr  

(ii) BaartIya mau#ya BaUBaaga ka dixaNatma ibandu 

    2 ide gae  maanaica~ pr inamnailaiKt sqaanaaoM kao dSaa-to hue ]naka naamaaMkna kIijae. 

        k´ icalaka JaIla 

        K´ naagaa phaiD,yaa 
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